C:h Vertical Division with aHelper Grid Name:
Solve each problem. Answers

1) 2) 3)

5[263 92[644 2[66 -

4) 5) 6)

420 87783 21282 ;.

7) 8) 9)
6619758 212508 97|1358

1-9 [89|78|67]56|44[33[22]11] 0 |
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 52r3 2) 7 3 33 5213
1.
5263 92(644 2[66
0 0 6 ) 7
26 64 06
25 0 6 3 33
13 644 0
4 5
10 644
3 0 . 9
6. 13r9
. 147156
4) 5 5) 9 6) 13r9
420 87|783 21282 s 1254
0 0 0
20 78 28 J 14
20 0 21
0 783 72
783 63
0 9
7) 147156 8 1254 9) 14
66/9758 2[2508 97[1358
0 2 0
97 05 13
66 4 0
315 10 135
264 10 97
518 08 388
462 8 388
56 0 0
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C:h Vertical Division with aHelper Grid Name:

Solve each problem. Answers
5 1254 13 r9
147 r56 14 52 r3 1
9 33 7
2,
1) 2) 3)

5263 92644 2[66 3

4) 5) 6)

420 87783 21282 0.

7) 8) 9

669758 212508 971358
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